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Question: 1 
   
When expanding a mapped GAD volume, which of the following are required? 
(Choose Two) 
Response: 
 
A. Increase the volume size at both the primary and secondary sites 
B. Re-sync the GAD pair 
C. Unmap the volume from all hosts 
D. Ensure no I/O operations are occurring 
 

Answer: A,B     
 

Question: 2 
   
During a network failure between sites, how does GAD maintain data integrity? 
Response: 
 
A. By stopping all I/O operations to the primary site 
B. Through a journaling system that records write operations 
C. By redirecting all writes to the quorum device 
D. Utilizing a split-brain avoidance mechanism 
 

Answer: D     
 

Question: 3 
   
How is the user interface of Hitachi Ops Center Protector designed to facilitate the management of GAD 
pairs? 
Response: 
 
A. By allowing drag-and-drop functionality in GAD pair configurations 
B. By using wizards to guide the configuration of GAD pairs 
C. By providing templates for quick GAD pair creation 
D. All of the above 
 

Answer: D     
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Question: 4 
   
In the expansion of a GAD volume using CCI, what is the correct order of operations? 
(Choose Three) 
Response: 
 
A. Modify the volume size specification 
B. Perform a resynchronization of the volume 
C. Use the pairresync command 
D. Ensure no other modifications are performed until the resync completes 
 

Answer: A,C,D     
 

Question: 5 
   
Which of the following statements about GAD I/O modes is correct? 
(Choose Three) 
Response: 
 
A. Synchronous mode offers the highest level of data protection. 
B. Asynchronous mode is recommended for environments where data consistency is not critical. 
C. In parallel mode, data is written independently to primary and secondary sites. 
D. Consistency mode requires manual reconciliation of data post-failure. 
 

Answer: A,B,C     
 

Question: 6 
   
Post-recovery testing should include __________ to confirm the system's operational integrity. 
Response: 
 
A. performance benchmarking 
B. data consistency checks 
C. user permission audits 
D. hardware evaluations 
 

Answer: B     
 

Question: 7 
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Using Hitachi Ops Center, which action is required to add a GAD volume to an existing pair? 
Response: 
 
A. Modify the existing pair 
B. Create a new GAD group 
C. Use the "Add Volume" configuration 
D. Reinitialize the primary and secondary volumes 
 

Answer: C     
 

Question: 8 
   
Following a GAD system failure, the recovery process involves re-establishing __________ between the 
primary and secondary sites. 
Response: 
 
A. synchronization 
B. communication 
C. operations 
D. connectivity 
 

Answer: A     
 

Question: 9 
   
Which types of migrations can be facilitated by GAD using Hitachi Ops Center Automator? 
(Choose Three) 
Response: 
 
A. Online data migrations between heterogeneous storage systems 
B. Offline migrations involving manual data handling 
C. Intra-data center migrations between GAD-configured volumes 
D. Inter-data center migrations under GAD configurations 
E. Cloud-based data migrations involving non-Hitachi storage 
 

Answer: A,D,E     
 

Question: 10 
   
What are the implications of not halting I/O operations during a GAD volume expansion? 
(Choose Two) 
Response: 
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A. Potential data corruption 
B. Increased time for expansion 
C. Possible interruption in user access 
D. None; I/O operations do not affect GAD operations 
 

Answer: A,C     
 

Visithttps://www.examsboost.com/test/hqt-6712/

https://www.examsboost.com/test/hqt-6712/


 

 

 
 

 

Thank You for Trying Our Product 
 

 
For More Information – Visit link below: 

https://www.examsboost.com/ 
 

15 USD Discount Coupon Code: 

G74JA8UF 

FEATURES 

 
 90 Days Free Updates  

 Money Back Pass Guarantee 

 Instant Download or Email Attachment 

 24/7 Live Chat Support 

 PDF file could be used at any Platform 

 50,000 Happy Customer 

Powered by TCPDF (www.tcpdf.org)

Visithttps://www.examsboost.com/test/hqt-6712/

http://www.tcpdf.org
https://www.examsboost.com/test/hqt-6712/

